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— §iff. Just at the edge his velocity
: | jar rides off the edge of a C i
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| E.S Passengers on a carnival ride move:at constant speed in a horizontal circle of |
| complete circle In 4.0 5. What is their acceleration?
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| Q.1 You throw a ball with a mass of 0.40 kg against a hrick wall. It is moving horizontally to the left at 30 m

i ' all
when it hits the wall; it rebounds horizontally to the right at 20 m/s. Find the impulse of the net force on the b
| during its collision with the wall.
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Q.2 Two gliders with different masses move toward each other on a fnctm:less air track. After they |!
glider B has a final velocity of +2.0 m/s. What is the final velocity of glider A? bt 20fs (_Im,*'l“? [5 |
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hydrogen atom has mass 1.0 u,anc nd the position of the center of mass.
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N Rolls-Royce Phantom
! component of the net force acting on it is

in the +x-direction makes an emer
- | gency stop; the x- |
LB3 X 10* N. What is its acceleration? |
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Q.2 An elevator and its load have a combined mass of 800 kg. The elevater is initially moving downward at

10.0 m/s; it slows to a stop with constant acceleration in a distance of 25.0 m. What is the tension T in the
Supporting cable while the elevator is being brought to rest?
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Q.3 vou want to move a 500-N crate across a level floor. To start the crate moving, you have o pu‘ﬁ_-ﬁﬁh
230-N horizontal force. Once the crate starts to move, you can keep it moving at constant velocity WwAth o
200 N. What are the coefficients of static and kinetic friction?
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instant, the athlete ig rotating at 10.0

this instant, find the tangential and centripetal
CUS ana the magnitude of the acceleration.

ﬂ.N..{E are

-.amm_m:m_.__mm:m_ﬁ_m:m propeller that is to turn at 2400 rem. The forward m:mnﬂma of the plane is
{s] _umfw;mb m/s, and the speed of the propeller

tips through the air must not mxéx
) What is the maximum possible propeller radius? :
3) With this radius. what is the radial acceleration of the propeller tip?
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1.3 A plumber siips a piece of scrap pipe over his wrench handie.
oplying his BOO-N weight at a polint 0.70 m from the center of the fit

1 angle of 15° with the horiz¢ d the magnif

the fitting. -
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ﬂuﬂlﬁﬂsﬁ + 3] —kmand E = 4i - 5] + 8k m. Find the magnitude of the displacement
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of a car at any time t is given by this equation v = 60 m/s + 0.5m/s* t*.

Q.3 The veloily ,mamawmmehma intervalty=1stot: = 3s.
ﬂ]ﬁ'ﬂlﬂ'mh in this time interval.
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